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2017.1.1(HJ1= X2) 4,073,264,500 22,626,563,830 (1,451,248,600) 30,531,821,067 55,780,400,797
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gIl=0l« - - - 2,983,071,390 2,983,071,390
SEZEY I - - - 2,983,071,390 2,983,071,390
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3 - - - (788,788,400) (788,788,400)
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4,073,264,500

22,626,563,830

(1,451,248,600)

32,726,104,057

57,974,683,787

2018.1.1(BJI= 2)

4,073,264,500

22,626,563,830

(1,451,248,600)

32,726,104,057

57,974,683,787
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g21%0/9) - - - 6.873,738,286 6.873,738,286
sxgeol I - - - 6.873,738,286 6.873,738,286
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TS 7 E - 1,046,851,572 1,451,248,600 - 2,498,100,172
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38,811,053,943

66,557,733,845




